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1 př č. 2

Vpoč́ıtejte (e−|t| ? e−|t|)(x) =?:

|x− y| =
{
−(x− y);x < y
(x− y);x > y

x · sgn(x) = |x|

? = (e−|t| ? e−|t|)(x) =
∫ +∞
−∞ e−|x−y|e−|y|dy =

ad 1. [x > 0] =
∫ 0

−∞ e−(x−y)eydy+
∫ x

0
e−(x−y)e−ydy+

∫ +∞
x

ex−ye−ydy = e−x
∫ 0

−∞ e2ydy+

e−x
∫ x

0
dy + ex

∫ +∞
x

e−2ydy = 1
2
e−x(1 − 0) + xe−x − 1

2
ex(0 − e−2x) =

(x + 1)e−x

ad 2. [x < 0] =
∫ x

−∞ e−(x−y)eydy+
∫ 0

x
ex−yeydy+

∫ +∞
0

ex−ye−ydy = e−x
∫ x

−∞ e2ydy+

ex
∫ 0

x
dy+ex

∫ +∞
0

e−2ydy = 1
2
e−x(e2x−0)−xex− 1

2
ex(0−1) = (−x+1)ex

dohromady:

? = (x · sgn(x) + 1)e−x·sgn(x) = (|x|+ 1)e−|x| (1)
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